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SECOND REVISION TEST - 2024 11 - STD

MATHEMATICS 0" | 3.00 birs.

YouTube/ Akwa Academy PART I

Choose the correct answer. - 20x1=20

1.

: a)6 b) 4 R d) 16
2.

3

v

a

~

&

Ifn((A x B) n (A x C) = 8 and n(BAC) = 2 then n(A) is : ‘

The solution 5x - 1 < 24 and 5x + 1 > -24 is
a) (4, 5) b) (-5, -4) c) (-3, 3) D) (-5, 4)

The number of ways in which a host lady invite 8 people for a party of 8 out of
12 people of whome two do not want to attend the party together is
,a) 2 X UC 4 10C . b) UC + °C, g) HC. - 19C, d) °C, + 2!

. The number of 5 digit numbers all digits of which are odd is

a)25 S G)5* d) 625

. The co -efficient of x5in the series e is

2 : -4 4 -
a.)* b) C)—)

The slope of the line which makes an angle 45° with the Ime X-y=z 5 are
' | -1
a)l, -1 b)— 2 - c)l— : d)27

If the ponnts (x, = 2), (5 -2), (8, 8) ara collinear, then x is édual to

a) -3 b)% 1 d)3

If 2 +2b and 3g +mb are parailel, then value of m is

1 =
3 b3 96 dy

]

i , a)2 b)3 . €) Does not exist d) 0 -

10. If. f(x)- X + 2, then f! (f(x)) at x=4is

a)8 byl c4 d)5

11.0F g =3+ j+4k, b -;-—]+k then the area of the parallelogram is

‘ = 1
12: 11_133(1 +x)*= a)e. b) PR
i
13. jaz

— : _ .I
; -1 X “alafa af x . a
a) Sin l(—)+c b) sin (—)+c cos ‘[—-)+ L [ad
Q) - ) x c) 2)te  dyeosT— e

a) /a1 5q. units b) /42 Sq. units c) J_ Sq. units d) J_ Sq units

C) X . d);
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LI o~ e @) gl
14'1‘\[“"""/-"” a) Jimxte b) Yunxe )—- fan X ) 3

Hin 2x
15. The probabllity of the Impossible event Is
a) 1 b) 0 c) P(A) d) P(B)
16. Ten colns are tossed. The probablllty of getting atleast 8 heads is
I 7 i
) 5 Nn -9 9 g
d'y
17.1f x = a, and sin 0, y = bcos 0 then -—[-;Is
- = -b
a) iz sect 0 b) £ sec’ 0 c) = sec’ @ d) — sec’d
h . a a :
18. The square root of 7 — 44/3 Is
a) 2++3 b) 2-v3 ) V2+3 d) v2-3
19, If cos 28° + sin 28° = K?, then cos 17° Is equal to
21 NG e ) B
20. In 3 fingers, the number of ways four rings can be worn in ..........: '... Ways.
a4’ -1 b) 3¢ c) 68 d) 64 ' :
PART - II . :
11. Answer any seven questions. Q.No.30-Is compulsery. 7x2=14

21.IFA = {1, 2, 3,4} and B = {3, 4, 5, 6} find n((4 U B)X(A4nB)X(AAB)).
22, Solve |2x - 17| = 3 for x, '

' V3
23, Find the principal value of cos ‘T.

24, Find the middle term In the expansion (x + y)5.
0 sina cosa
=| sina 0 sinfg

25, Find |A| if 4
cosa -sinf 0. ||

26. Find A when the projection of g =Ai+ j+ 4k on b =2i+67 +3% is units.

’

d |
27. Find ,d—y fx24yi=1, .
28. Evaluate. Ixe’cbc

29, If two colns are tossed simultaneously, then find the probabinty of gettin
I) one head and one tail il) atmost two talls. 9

x2=5x+6
x-3

30. Evaluate lim
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; " PART - III
III. Answer any seven questions. Q.No. 40 is compulsory. 7 x3 =21

31.In the set Z of of lntegers, define mRnifm-nis dwlsnble by 7. Prove that R -
*is an equivalences relation. '

32 Resolve int il
' | i ——
A 0 partial fractions. (x_?_)(x_k])
.. sindx+sin2x . o
33. Prove that : ' e =tan3x

cos4x+cos2x
34.1f nP, = 720; nC = 120, find n, r.
35. Find ,3/1001-app'roximately.

log, 64 log, 3| _|log,3 log,3| -

36. Find the value of the product log 4. log, 4]
3 3

log,8 log,9:

37. Prove that the points whose _position vectors 2; +4J+3k 4;+J+9k and

101 = +6k form a right angled trlangle

38. Evaluate I(x 3) x+2 dx s
39. The probablllty of an event A occunng is 0.5 and B occurlng is0.3. IfAand B
are mutually exclusive event, then find the probablllty of _ ,

i) p(A U B) p(AAB)) .. iii) p(AmB)
: YouTube/ Akwa Academy :
40. erte any three dlfferent forms of an equations of stralght Ime

PART I‘V _
IV. Answer all the questlons ( ST o 7x5=35
41.a) Letf, g: R —> R be def‘ned as f(x) = 2x |x| and’ g(x) = 2x + |x]|.

Find fo g (OR)

' - & o : 2x-3
b) Find all the values of x that satisfies the equality (_X*Z)T'—) <0,

42, a) Derive pl’O_]ECtlon formula from i) Iaw of sines ii) Law of cosines

(OR) ‘

b) By the principle of mathernatlcal induction, Prove that for n >1
* n(n+1)(n+2)
1.2+ 23 +34+ . (n+1)_—-3—

g 43 a) The 2", 3d and 4" terms in the binomial expansion of (x + a)" are 240
720 and 1080 for a suitable value of x. Find x, a and n.

(OR)
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b) Rewrite \3x +y+4=0 into 'norm_al form.

de-a® c2 b 1 la b o
; 2 _ R2 2 — b a
44.3)Showthat| €~ ea~b @ =P ¢ )
» b’ v a2 .2ab—c :c a bl
(OR)
b) If ABCD isa quadrilateral and E and F are the midpoints of AC and BD
.respectlve‘ly, then prove that AB + AD +CB+CD=4EF
2| tls I
— e 120
A’ i
L (OR)
b) Ify = et*'fm X', show that (1 + x)y™ + (2x - l)y1

: 1
: lim —1 +
45. a) Show that o' “x_l [

x+3
46. a) mtegrate wuth respect to x I(x +2)% (x+1)
“(OR)

b) There are two identical. urns containing respectively 6 black and 4 red balls,
2 black and 2 red balls. An urn is chosen at random and a ball is drawn from
it. ot

i) find the probablllty that the baII is black
ii) if the ball is black, what is the probability that it is from the first urn"

2x+1

47. a) Int;egrate wnth respect to x .[ ’x Hx+9
- : .v : % (OR)
- > . . d L) ' '
b) Ify = (cos"x)z prove that(l x ) y_ & -2 =‘0 Hence find y, when x = 0.

dxzdx
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